Azadı GOVERNMENT OF MIZORAW Amrit Mahotsav

DIRECTORATE OF INSTITUTIONAL FINANCE & STATE LOTTERY

Ph: 0389-2322291 : Fax: 0389-2320755

e-mail: ifsl mizoram123@yahoo.in: Website: www.ifsl.mizoram.gov.in

No.G.27041/1(11)/2022-DTE(IF&SL)/ 74 :

Dated Aizawl, the __ Jan., 2023

NOTICE

As authorised by the Government vide letter No.G.16016/4/2012-F.IF&SL dt 11.9.2012, the undersigned hereby approves modification/change of prize amount/change of draw time and prize structure 1st - 12th prize numbering with series ABCDE/0000 to 9999 of Golden King Weekly Lottery w.e.f. 30.01.2023 as per details details enclosed herewith.

> Sd/- JENNIFER H.L. DUHAWMI Director Institutional Finance & State Lottery Mizoram: Aizawl.

Memo No.G.27041/1(11)/2022-DTE(IF&SL) ∏ :

Dated Aizawl, the _ Jan., 2023

- 1) Under Secretary to the Govt.of Mizoram, Finance Department (E) Copy to: forinformation with reference to Finance Department letter as quoted
 - 2) Director, State Lotteries, Govt. Of Maharashtra, Punjab and Goa, Sikkim for information.
 - 3) M/s B.S Enterprises(Lottery Division) U/O Goldwin Healthcare Pvt. Ltd., 201, 2nd Floor, Bhakti Park, Junction of R.H.B Road & S.L.Road, Mulund (W), Mumbai-400 080 for information.

Dealing Assistant i/d Department website for uploading.

Institutional Finance & State Lottery Mizoram : Aizawl.

Director: 2322291, Fax - 2320755, Jt. Director: 2325115/2310476, Fax - 2317998, Asst. Director: 2325768, Superintendent: 2321657



GOVERNMENT OF MIZORAM DIRECTORATE OF INSTITUTIONAL FINANCE & STATE LOTTERY

Ph: 0389-2322291: Fax: 0389-2320755

e-mail: ifsl_mizoram123@yahoo.in: Website: www.ifsl.mizoram.gov.in

APPROVAL FOR REVISED GOLDEN KING WEEKLY LOTTERY SCHEMES

GOLDEN KING SOM WEEKLY FROM DRAW NO. 22 ON 30-01-2023 ONWARDS

Prize Rank	No. of Prizes	Prize Amt.	Total Prize Amt.	Draw Method
1	1	10000	10000	1 TIME-ON 4 DIGITS (WITH SERIES)
2	5	5000	25000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
3	5	4500	22500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
4	5	4000	20000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
5	5	3500	17500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
6	5	3000	15000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
7	5	2500	12500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
8	5	2000	10000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
9	5	1500	7500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
10	5	1000	5000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
11	5	500	2500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
12	1250	100	125000	250 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
TOTAL	1301		272500	(Total 261 Results)

GOLDEN KING MANGAL WEEKLY FROM DRAW NO. 22 ON 31-01-2023 ONWARDS

Prize Rank	No. of Prizes	Prize Amt.	Total Prize Amt.	Draw Method
1	1	10000	10000	1 TIME-ON 4 DIGITS (WITH SERIES)
2	5	5000	25000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
3	5	4500	22500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
4 ′	5	4000	20000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
5	5	3500	17500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
6	5	3000	15000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
7	5	2500	12500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
8	5	2000	10000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
9	5	1500	7500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
10	5	1000	5000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
11	5	500	2500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
12	1250	100	125000	250 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
TOTAL	1301		272500	(Total 261 Results)

GOLDEN KING BUDH WEEKLY FROM DRAW NO. 22 ON 01-02-2023 ONWARDS

Prize Rank	No. of Prizes	Prize Amt.	Total Prize Amt.	Draw Method
1	1	10000	10000	1 TIME-ON 4 DIGITS (WITH SERIES)
2	5	5000	25000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
3	5	4500	22500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
4	5	4000	20000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
5	5	3500	17500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
6	5	3000	15000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
7	5	2500	12500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
8	5	2000	10000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
9	5	1500	7500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
10	5	1000	5000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
11	5	500	2500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
12	1250	100	125000	250 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
TOTAL	1301		272500	(Total 261 Results)

GOLDEN KING GURU WEEKLY FROM DRAW NO. 22 ON 02-02-2023 ONWARDS

Prize Rank	No. of Prizes	Prize Amt.	Total Prize Amt.	Draw Method
1	1	10000	10000	1 TIME-ON 4 DIGITS (WITH SERIES)
2	5	5000	25000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
3	5	4500	22500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
4	5	4000	20000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
5	5	3500	17500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
6	5	3000	15000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
7	5	2500	12500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
8	C 5	2000	10000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
9	5	1500	7500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
10	5	1000	5000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
11	5	500	2500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
12	1250	100	125000	250 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
TOTAL	1301		272500	(Total 261 Results)

GOLDEN KING SHUKRA WEEKLY FROM DRAW NO. 22 ON 03-02-2023 ONWARDS

Prize Rank	No. of Prizes	Prize Amt.	Total Prize Amt.	Draw Method
1	1	10000	10000	1 TIME-ON 4 DIGITS (WITH SERIES)
2	5	5000	25000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
3	5	4500	22500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
4	5	4000	20000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
5	5	3500	17500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
6	5	3000	15000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
7	5	2500	12500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
8	5	2000	10000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
9	5	1500	7500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
10	5	1000	5000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
11	5	500	2500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
12	1250	100	125000	250 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
TOTAL	1301	,	272500	(Total 261 Results)

GOLDEN KING SHANI WEEKLY FROM DRAW NO. 22 ON 04-02-2023 ONWARDS

Prize Rank	No. of Prizes	Prize Amt.	Total Prize Amt.	Draw Method
1	1	10000	10000	1 TIME-ON 4 DIGITS (WITH SERIES)
2	5	5000	25000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
3	5	4500	22500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
4	5	4000	20000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
5	5	3500	17500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
6	5	3000	15000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
7	5	2500	12500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
8	5	2000	10000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
9	5	1500	7500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
10	5	1000	5000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
11	5	500	2500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
12	1250	100	125000	250 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
TOTAL	1301		272500	(Total 261 Results)

GOLDEN KING RAVI WEEKLY FROM DRAW NO. 22 ON 05-02-2023 ONWARDS

Prize Rank	No. of Prizes	Prize Amt.	Total Prize Amt.	Draw Method
1	1	10000	10000	1 TIME-ON 4 DIGITS (WITH SERIES)
2	5	5000	25000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
3	5	4500	22500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
4	5	4000	20000	1 TIME-ON 4 DIGITS (WITHOUT SER!ES) No repetition of any number of any rank
5	5	3500	17500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
6	5	3000	15000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
7	5	2500	12500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
8	5	2000	10000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
9	5	1500	7500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
10	5	1000	5000	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
11	5	500	2500	1 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
12	1250	100	125000	250 TIME-ON 4 DIGITS (WITHOUT SERIES) No repetition of any number of any rank
TOTAL	1301		272500	(Total 261 Results)

a) Name of the Lottery Schemes

b) Price of the Lottery Ticket

c) Total Number of Tickets Printed

: As mentioned above

: Rs. 10/- (MRP)

: 50000 (Fifty Thousand) Tickets in

: 5(Five) Series (A,B,C,D,E)

: Numbering 0000 to 9999 in each Series

d) MRP Value of the Tickets Printed

e) Face Value of the Tickets(MRP less GST)

: Rs.3,90,625/- (Three Lakhs Ninety Thousand

f) Draw Number

g) Draw Time h) Periodicity of the Draw

i) Prize Structure

j) Amount Offered as Prize Money

k) Procedure of Draw

Deduction of Prize Money

: Rs.5,00,000/- (Five Lakhs Only)

: Six Hundred Twenty Five Only) : 22 (Twenty Second) Onwards

: 5.00 PM Onwards

: WEEKLY

: As Mentioned Above

: As Mentioned Above

: As Mentioned Above

: Income tax shall be deducted as per the provision of

Income Tax Act

- m) One Ticket Can Win Prizes of One Rank Only, Whichever is Highest in Terms of Prize Money. Holder of said Ticket shall be Entitled for all the Prizes Selected Rank.
- n) All the prizes above worth Rs.10000/- will be liable to claim directly from Mizoram Government as per rules.

o) The Place, Where Draw Shall be conducted: Directorate of IF & SL, Aizawl, Mizoram.

p) All the Tickets Printed shall have Logo and Imprint of the State with Specimen Signature, Date of Draw, Time of Draw, Lottery Number with Series, QR Code or Barcode.

q) Printer Name & Address : HkG Printers and Packagers Pvt. Ltd.,302, Shagun Vatika, Prag Narayan Road, Gokhale Marg, Lucknow, Utar Praesh- 226001

r) Name of the Sole Distributor

: B.S.ENTERPRISES (LOTTERY DIVISION) ,

UNIT OF GOLDWIN HEALTH CARE PVT. LTD. 201,

BHAKTI PARK, MULUND (WEST),

Mumbai - 400080.

Note: Details of Unsold Tickets, if any, shall be intimated by the Distributor before the Draw time by means of Electronic Media or Physically.